ADVANCED FUNCTIONS

Chapter 6 — Trigonometric Identities and Equations
(Material adapted from Chapter 7 of your text)




Chapter 6 — Trigonometric Identities and Equations

Contents with suggested problems from the Nelson Textbook (Chapter 7)

6.1 Basic Trigonometric Equivalencies — Pg 129 - 134
Pg. 392 — 393 #3cdef, 5cdef

6.2 Compound Angle Formulae - Pg 135 - 140
Pg. 400 - 401 #3 -6, 8 - 10, 13

6.3 Double Angle Formulae — Pg 141 — 144
Pg. 407 — 408 Finish #2, 4, 12-Do # 6, 7

6.4 Trigonometric Identities — Pg. 145 — 149
Pg. 417 - 418 #8 - 11

6.5 Linear Trigonometric Equations — Pg. 150 — 153
Pg. 427 — 428 #6, 7def, 8, 9abc

6.6 Quadratic Trigonometric Equations — Pg. 154 — 159
Pg. 436 - 437 #4ade, 5acef, 6ac, 7 -9
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6.1 Basic Trigonometric Equivalencies

We have already seen a very basic trigonometric equivalency when we considered angles of
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rotation. For example, consider the angle of rotation for 6 :?:
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Periodic Equivalencies

Example 6.1.1 g“f\é s 27 - ?enbclu.
Consider the sketch of the function f (6)=sin(6)

S'L\(E’O: SV\(Zﬁ 48)

(@)= — sin{-9)
Qe B e a—,\«l '][:-

Example 6.1.2
Consider g(x)=cos(x) Cogne 4y 2t - Ten'nc!»;

CA(9) = Cep (27 49)

655(9)1 @5(;9) |
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Example 6.1.3
Consider h(0) =tan(0)
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Shift Equivalencies

Example 6.1.4

Consider the sketches of the graphs for f (6)=sin(6) and g(0)=cos(0)
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kR0 = Gfs (T -9
Cofunction Identiw A

Consider the right angle triangle

SN (9) =

hd
C

bt (g(gfg) = %

Sin(8) = cos(T_ o)

Cos(9) =

SW\(T_:;-— 9}

C

Using CAST, relating angles of rotation to 7 and 27

Compare Q1 and Q2
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Compare Q1 and

Q3
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Compare Q1 and Q4
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gf‘/\(g) = TS (Tee)

Con(®) = - CC&UTH})

f(m(‘@r} =+ta L9/

9] = — 5-lon o)
Cd(g/: al (_ﬁ&(')r -9)
L (8) =~ - ta(>+-9)
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Example 6.1.5 £~ Q) - (
N = S L
From your text: Pg. 392 #3 ( 2" @')

Use a cofunction identity to find an equivalency:

a)sm(6j CQS(L'-&,) = @5(5%-*1'1_) = @5(23)
/P b [
b = Lot ()
- (F> e
d) cos(—j DY T{?__ - Sn
o)
= Sw\_ SF'
< (o - 1‘1_- - SJV\( 3_“--
14 17
- EL 3
CA 0 ) = S ("‘E)
Example 6.1.6
From your text: Pg. 393 #5 : -
Using the related acute angle, find an equivalent expression: S = a
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Class/Homework for Section 6.1

Pg. 392 — 393 #3cdef, 5cdef
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